rkL—=2%4 La—FK LStepHigh
K4 RA 2 b REGHAZEFES FL—=VJ BT EFHZITVET !
B# LTy b =] %k 6 7 8 9 10 1 12 13 14 15
A EE R.H / /s /s /s /s /s /s /s /s /s
L = (mmHg)
. =xIE (mmHg)
g ka8 43)
" HEKke)
1RBE R ZE (%)
HE &= (mmHg)
. T {E (mmHg)
% AR (8.7 43)
B Bk o)
1RAE A ZE (%)
iR - A€
b= LAY B - B3
NAY * 105
H B ALy F (BHESHE) * 109
Lyd7FLR * 10~15[A] 2-3set
YlvyizorTovay| % 10~15[=] 2-3set
Ol FrzroLx * 10~15[ 2-3set
A ZASIACRY * 10~15[] 2-3set
RI—FL—+ EBFEHRYE) | K
FEH EBELMNTHLRL
ND—TFL— b (KEsa1E) | ok
BURWRYI Ty * * 10~ 15[ 2-3set
EhtL—=2 *
INAY or RLYFIIL| K 20~30%
mbR k54 4— * 20~30%
AbLyF (BHSR) * 104

EIHER)




